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Part-I/4TT-1 (GENERAL AWARENESSRTFTF"I =I1)

(D) Germany

Which of the following countries is |1 frfaRad § & B9 a1 <91 U 8!
| not a Republic? 87

(A) France () T

(B) .Germany ® ;g;ﬁ |

(C) Britain EE; iR T ST

(D) USA |

On which date Surgical Strike was |2 | ¥RATd A1 A |AoTbel TR {64

carried out by Indian Army? _Fﬂ'ﬁ@ BB A7

(A) 25" June, 2016 (A) 25%f, 206

(B) 29" September, 2016 (E) 29T, 2016,

(C) 20" October, 2017 Eg; f;) g 2.2; :77

(D) 19" November, 2017 :

Which of the following provides for | 3 | eR-TTeIRa A X fehRich F=eilcl ST AR |
| special status to the State of Jammu BRIy B R gt gar fvar

& Kashmir? &7

(A) Article 320 ((/;)) jg;iiiz

(B) Article 356 '

(C) Article 365 | g; ﬁi?g

(D) Article 370

Who unveiled “Me too” movement in | 4 ARAH A " ATl DI GOl [

India? @172 |

(A) Priya Dutta QEELIEY

(B) Arundhathi Roy | Ei; :_?;_Cﬁm

(C) Tanushree ' () eaat ¥

(D) Aishwarya Rai _

Which country is associated with |5 SEIRT gRATST F WRd & GEanrl o9l

India in the BrahMos Project? P ATE?

(A) France (A) I |

(B) Russian Federation () IS HY

(C) USA (c) -Nigeh IS IFRIDT

(D) SEET

3




6 | In which State Cryogenic Engine of | 6 | TvaTH-2 & BrAMSID Sl BT Thol

| : Bl
Chandrayaan-ll  was successfully aXIeTT fobst _7o # faa w7 or?
tested?. (A) ST IS
(A) Andhra Pracesh | B se
B) Odish (C) .
(B) Odisha (0 :

(C)Tamil Nadu
(D) Rajasthan |
7. | How many votes were polled by India | 7 | gt T HEl HFATSHR TREG (3. 7.

in the UNHRC Elections held recently T, 3R.¥.) & forq 81t €1 # gy g=ral &
In the 193~ member United Nations? | | IRT ®I HYTH I A P 193 TSI S0

(A) 127 H ¥ Pt e T2 & AT W gU 2
(B) 188 (A) 127
(C) 178 (B) 188
(D) 188 (C) 178
(D) 158
8 | NASA's “Chandra

X-ray | 8 | T B "Ik TR dGRITAT (ITeotdexT)
Observatory” was named- after BT THBRY fh¥] ARAT-SHIBT &b =7

Indian-American? R X T A7
(A) TERIER IS
(A) Chandrasekhar Azad
(B) QqIEHUIH TR
(B) Subramanian Chandrasekhar | (©) R
(C) Ravi Chandra (D) W1 UY. TEIRR
(D)-Prof. S. Chandrasekhar ,,
9 |Drone Technology is one of the |9 |9 WA W N=faRad § g
Projects undertaken by TRATSTT & 3TTiel BT fehaT ST TeT 27
(A) “Industry 4.0” (A) "SI 4.0"
(B)1SR0" (®) "SR
(C) “NASA” (C) "arr”
(D) "BrahMos” . (D) "gE"
10 | Who founded the World Economic |10 | faza anfSie #= (S<q. s. Ub.) o
Forum? | | T o o off 2
(A) Richard Nixon (A) RS e
(B)James Alexander | | (B) OIRF3Teidivey :
(C)MeiraGold -~ - ' - (C) ARRITeS
(D) Klaus Schwab B (D) &I W1g




5| 11

Who was recently appointed as the
Solicitor-General of India?

(A) N.A. Palkiwala

(B) Fali Nariman

(C) Thushar Mehta

(D) K.K. Venugopal

11

BTel 817 VR P FIARTER SR & B
# fora Fergen foparm T e ?

(A) TA.T. U aTe -

(B) Wicil ANIEA

(C) YR HE

(D) ®.%. JUFTITS

12 | Who is known as the Frontier Gangdhi | 12 | IRd & "Wi<ax el & wd # fhd
of India? ' ST ST 82
(A) Abdul Ghaffar Khan (A) A THHR T
(B) Attaullah Khan (B) IS WM
(C) Ayatollah Al (C) STATITATE 37eAl
(D) Shaik Muzbur (D) TMSH GoTaR
13 [Which is the highest wartime | 13 | WRca 941 & Jg-dlal bl Seadd A
Gallantry Award in the Indian Army? PR P ATE?
(A) Mahavir Chakra (A) HETER IH
(B) Ashok Chakra (B) 372N =h
(C) Shourya Chakra (C) ¥k
(D) Paramvir Chakra (D) WRHEIR Th
12 [Which Article _in__the Indian | 14 | ¥Ra & Wg ¥ {9 afws A
Constitution provides the Right to Faghe STaRl & fou efger ue™
Constitutional Remedies? fpar T 8?2
(A) Article 25 (A) T 25
(B) Article 32 (B) 3T 32
(C) Article 52 (C) -3TI0a 52 .
(D) Article 14 (D) 3TeSE 14
15 [Under _which Article in_the | 15 | WIRd & a8 # [ 3Fe0q & Sr=riid
Constitution of India the Inter-State IR I gR¥g BT TS+ g STt
Council is constituted ? 27 .
(A) Article 1 (A) IS 1
(B) Article 163 (B) T 163
(C) Article 263 (C) ITTE 263
(D) Article 356. (D) ITTE 356
16 | “The Statue of Unity” is located at | 16 | "T& oo 3iTh girie " el IR 87
(A) Sadhu Bet | (A) dgde
(B) Beda Ghat (B) dstHERE
(C) Kanyakumari (C) HITHHRT
(D) Mount Abu (D) AT AT




Name the Sports Minister who said

17 17
“My Ministry will strive to ensure, that T BT B Tereiiel ®l @ e 3R
Athletes get Sammaan and Suvidha Gl fiel" I8 {69 ot 430t 7 dar21?
(respect and facility ). (A) fasra e
(A) Vijay Goel (B) A=< HAIdTel
(B) Sarbananda Sonowal (C) IgadH R
(C) Rajyavardhan Rathore (D) 31T AT
(D) Ajay Maken '

18 | In which case the Bharat Ratna | 18 | S=ddH el ?ﬁmgﬁmﬁbﬂm
Award announcement had to be AHA H 9Rd ¥ RESEdN ﬁ'(,’ S @Y
withdrawn following a Supreme Coqrt aﬁwaﬁmmw qr?

Order? (A) T e

(A) Annie Besant (B) gV T75 a1
(B) Subhash Chandra Bose (C) AN.EA. 3rIgR
(C)CN Annadorai (D) . 91, TRIAE N1
(D) PV Narasimha Rao . : ,

19 | Who is the Leader of the House in | 19 | JT5 JHT H 41 b ~Idll D & 7
the Rajya Sabha? (A) T 78
(A) Rajnath Singh OESEEF
(B) Arun Jaitley (C) T &l 3TToTTg
(C) Ghulam Nabi Azad (D) e HaRmA
(D) Nirmala Sitharaman : |

20 | A Bill passed by both Houses of | 20 | i€ & ] ¥a=l gRI URG [9d®
Parliament becomes an Act after it is frad gwTer & HRAIq SIBISLEECERH
signed by 77
(A) Prime Minister (A) gaTEAL
(B) The Speaker (B) cHaHTETe
(C) Chairman of Rajya Sabha (C) ST [T P TR
(D) President of India (D) HRd & Ul

21 | The Blockchain technology was | 21 | "=t UIENRI®!" &Y FbouaT o

conceptualised by

(A) Satoshi Nakamoto
(B) Merkel

(C) Garner

(D) Scott

oft? '
(A) STAT! ATHTHIE!
(B) Add

(C) IR

(D) wpIc

<_“.‘




22 | Founder of Amazon 22 | "3YSIT T HRATIE DI 67
(A) Bill Gates (A) ﬁ[—(—,[ﬁ—a:[
(B) Warren Buffett (B) di athe
(C) Jeff Bezos (C) STt oI
(D) Brion Acton (D) ST YareH
23 [Whioh of the following is said to be | 23 | JTAIM WIRd & Freterad # | ¥ o1
" | the first metal used in ancient India - .ﬁ HRIG wY F G Tg ST
(A) Gold T AqT?
(B) Copper ORilil
(C) Silver (B) il
(D) Iron (c) dral
(©) @
24 | Insulin controls the metabolism of 24 | ggfe frefeaRad A & fhdd STy
(A) Hormones | &1 i3 el 87
(B) Carbohydrates (A) BRHA
(C) Proteins (B) dHEEERCH
(D) Fats (©) I
; (D) g1
25 | Chlorophyll is a naturally occurring | 25 FARITH ‘\’ﬂ‘l‘lﬂﬁ_ﬁ wT A [ Ea'ﬁ
chelate compound in which central qrerr Brer b (biere) A e g,
metal is | foraH vg e 2
(A) Iron (A) diE
(B) Copper (B) <&l
(C) Magnesium (C) #RmH
(D) Calcium (D) %i%“ﬂw
26 | If a moving body turns its speed to | 26 i Eﬁl’é T geref ST e Pl 3?5
1.5 times, what will be the impact on AT del o B al 3’\‘1?53[ s Sl W
its kinetic energy ? eI I TS ? '
(A) 2.25 times 1 (A) 2.25TF
(B) 1.5 times (B) 1.5
(C) 3 times (C) 37
(D) 6 times | (D) 67
27 | Who was the last Governor General | 27 TR B AT AR SR B A7
of India? | (A) aRA BfeeT
(A) Warren Hastings (B) fare= EIEK
(B) Winston Churchill (C) THIA ISHNITATATR
(C) Chakravarthi Rajagopalacharl (D) TS HIGEdCH
(D) Lord Mount Baton '




Who pilots the Private Member's

28 28 | R TRHRT Gavd & (a8 B 1 TR |
Bill? ' PRATR? |
(A) Parliamentary Affairs Minister (A) AEER ST HAT
(B) M.P. . (B) ¥Ug WEw
(C) Home Minister (C) & w3l
(D) The Speaker (D) NHAITETE

29 | From which Party the present Deputy | 29 | XTSI HHI & IAAE SYFUTIS fohd <cf 9
Chairman of Rajya Sabha hails? g7 -

(A) BJP (A) HreTdT
(B) Congress (B) &I .
(C)BSP (C) aar
(©)JD) | @) “R@

30 | Which language is used for the |30 | HRA & Soddd ~graTeld Bl IMeIBIRG
official proceedings in the Supreme HRATE! ¥ B Y 9T GG A oS ST
Court of India? 27 -
(A) Hindi (A) &=
(B) English (B) 3fush
(C) Urdu (C) &g
(D) Sanskrit (D) Wxpd

31 | Who coined the word “BREXIT"? 31 | "SfeRTe” 2Teg TRl IR fohae T fopa
(A) Peter Wilding 77 -
(B) Theresa May - (A) diex fafesT
(C) David Cameron (B) AT H
(D)Merkel (C) SfIs Hw=mA

(D) bl

32 | In which State, Brihadishvara temple | 32 | g8<%aR Afex fra vsa & Ry 87
is located ? . (A) Flcd
(A) Karnataka. E(B:; HERTS
(B) Maharashtra (0 et 3
(C) Tamil Nadu '

(D) Kerala :
33 | In which State, "Sundarbans" Forest | 33 | "graxa" & [od 50 § 1ord & 7

is located ?

(A) West Bengal

(B) Rajasthan

(C) Himachal Pradesh

(D) Uttarakhand . I

(D) SRS

(A) ufeesft e
(B) XTSTReIT
©) f%ﬂﬁl?rm
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34

Which of the following is called the
“Land of the Blue Sky”?

34

TrfaRaa & I e éﬂ@maq
TS PR ST 7

(A) Bhutan (A) e b
(B)Indonesia (B) geMfer
(C) Mongolia (C) #mferan
(D) Singapore (D) Ry
35 | What was the age at which Mahatma | 35 HETHT WielY T faraTe fove oy gam o017
Gandhi’s marriage took place? (A) 1399
(A) 13 years (B) 1699
(B) 16 Years () 15ad
(C) 15 Years - (D) 17 4
(D) 17 years
36 | Which country will host the 2022 |36 |2022 & JaT 3Nfer e Wall &7 ST
Youth Olympic Games ? frg ?{%T  far Smge?
(A) Mexico (A) Hfraa
(B) Sri Lanka (B) #eidT
(C) Senegal (C) W »
(D) Nigeria - | (D) ATSSiiRAn _
87| In which Schedule of the Indian |37 ST g faxTel wrae T @1 wRd %
Constitution  the  Anti-Defection e B {5 STy ¥ srafde ﬁh‘éﬂ
provisions are incorporated ? TATE?
(A) 7" Schedule (A) 7 4t srggt
(B) 9" Schedule (B) ot argerh
(C) 10" Schedule (C) 10 df g
(D) 12" Schedule (D) 12 & 3r gt
38 | The Golden Couple” — a pair of | 38 | g8 TUST 1eh Tl ge]] I Gel- '
golden snub-nosed monkeys are| | Moed A" ﬁﬂ?éﬁﬁqﬁﬁlﬁﬁ%'? |
found in ' (A) #reiet
(A) Sri Lanka (B) ¥
(B) China (C) <fRrofl srpra
(C) South Africa (D) |t Y IHARIBT
(D) USA |
39 | In which country, Rohingyas were | 39 | fhd o1 & 91 W § e e & 7
found in largest-number ? (A) Fivefreer
(A) Bangladesh (B) urfher
(B) Pakistan (C) WA o
(C) Iran

(D) Myanmar

(D) ”HR
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Who is the Ex-Officio President of
Indian Council of World Affairs?

(A) External Affairs Minister

(B) President of India

(C) Vice President

| (D) Prime Minister

40

mm@ammmﬁﬁwﬁ _
ST B - ‘
(A) fager =it
(B) WRd & i
(C) SuRTIUfa

__(D) TETTHA]

10
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Part-1l/ M-Il (General Intelligence / HATHT=T i)

e
41 | ‘Foundation’ is related to ‘Edifice’ in the | 41 | "Tia" BT T T W S UBR
same way as ‘Constitution’ is related to I 2 AT TR 3 IRy BT g
(A) Government .
(B) Stage (A) ‘
(C) Nation B)da
(D)Cabinet (C) s
(D) AEHSA A Bl
Choose the word that is least like the raferRaa (94 42 3R 43) q ¥ T8 ‘
other words in the group. (Qs: 42 & 43) P A1 9= 2 S W i ¥ st
o1 ¥ AreT aga W v # |
42 | (A) Ghosts 42 | (A) 4d
" (B) Spirits (B) WTHT
(C) Phantoms :
(D) Skeletons (.C) h :
(D) PhTA
43 | (A) Pituitary 43 | (a) T
{B) Pancreas (B) 3T
(C) Thalamus .
(D) Adrenal () SITI8 .
(D) 3Tfergerh Tl
44 | In a certain code ‘123’ means ‘hot | 44 Wﬁ%ﬁ?&ﬁﬁﬁﬂ?ﬁ?m‘lﬁ‘
filtered coffee’. ‘356" means 'very hot &1 3t 1 fhoes BT 1356' T
day’ and ‘589’ means ‘day and night’. . ' o
| Which digit stands for ‘very’? ¥ T T 3R 'sgo' T apef
(A) 6 : ﬁﬁaﬁv%%tm%ﬁmﬁ
(B) 5 # ST T 3 DI W
(OR (A) 6
(D) 9 (B) 5
(C)8
.| (D)9
45 | Fill'in the blank: QAR, RAS, SAT, TAU, | 45 | RaTell ST I MR : 9 U MY, 3N T
— ' T, U Ay,
(A) UAV " &
(B) UAT (AT
(C) TAS (B)g Ul
(D) TAT ©dvTy
' D) A TA

11




-Complete the word associations.

wTe T T T BT |

(Qs: 46 & 47) (5157 : 46 3iR 47)

46 | Bee: Stings -:- Dog : ? 46 | HYARE! : S -:- Pl : ?
(B ) Barks 5
(C) Cat (B)

(D) Tail (c) fereet
(0) 4T

47 | Motorcycle: Cylinder -:- ? : Rack 47 QIEQGI:%I?E‘@'; RIforsY - ? : ¥
(A) Bicycle ' (A) mﬁm
(B) Boat ”

(C) Horse i Bt
(D) Walking () ®TST .
o (D) YS el -l

48 | ‘Philatelist’ is related to ‘stamps’-just as | 48 | 'fehe AURS' & T T YN fehe
‘Demographer' is related to JE s ypR ‘W@Hﬁﬁ‘c{' FT T
(A) Music 9 )

(B) Photography (A)
(C) Fossils (B) BICIITH
(D) People (C) SitereH
(D) ST A B
Read the given statements carefully. FfafaRea s B e 9 gfev | fev 0
On the basis of the given statements, FUF &b AR TN FrafaRag R 74 9
which of the following options is true? | ' .
{3545 % 503 | | HIF AT HEl 82 (94 : 49 3R 50)

49 | All'TV commercials give information. | 49 | 2eiifaoi 9% ST SIM dTel 991 ST+
Some TV commercials are without BN o ¥ ST ¥ 7 ﬁ'f?ﬂq?f
humour. - : :

(A) All information is with humour W- 3 B &l
(B) All TV commercials are with humour (A) AT STFHRT BRT-TReEr 9 gt glc
(C) Some information is humourless gl %
" (D) TV commercials have no humour '(B) NS ¥ 9 frsmoe E-UREN
g &I &1 '
(C) PV TN BI-uRe™ 3 f2d Bt
gl

(D) Telifdo & fAsmu=l & &S &™-
qRE &l Bia1 2|

12
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Christopher is a surgeon. Christopher
can legally perform brain surgety.

(A) Only surgeons can legally perform
brain surgery

(B) Surgeons cannot legally perform
brain surgery

(C) Christopher cannot perform brain
surgery

(D) Some doctors can perform brain
surgery '

50

PheIhR STed-Tfhoid Sl RhecIhe JeTd aR
TR AR P 9Ty forfehear o) 9ad 2

(A) PI T Tafreas & danfies aik ox Alean
%1 wred Fiftrear o Ty ¥ _

(B) 31ex Fifeheres Jermf=ep TR IR AR B 2red
fafere 8l &% gad € .

(c) foreTmr 7RI &t 3oy fafdhe 18 &= 9
gl

(D) B Sidex ARKTSh &I 2Ty Fafde &R qad
gl

Read the following information and
answer (Qs: 51-52).

FrafeiRea SRt &) gfew ok (9% : 5152) &
SR il

"Manish, Rishi, Rhea and Kavya are 4

creative artists of great talent. One is a
dancer, one is a painter, one is a singer,
and one is a writer, not necessarily in
that order. Read the given premises and
answer the following questions.

I. Manish and Rhea were in the audience

the night the singer made his debut on
stage.

Il. Both Rishi and the writer have had
their portraits painted by the painter.
I1.The writer, whose biography of Kavya

“| was a best seller is planning to write a

-y, RfY, Rar 3R s aR safees agal arel
GorTeiel HABR Fl Th a6 ¥, & [ITPR g,
ST T AT ST A1 & HAMER 21 7 &g
Y I B TGN AAferRad Hedi & ST alforg|
| R7 1 Y T W HY W) 9 IR 379 TR
1 BRI IR foha, w9y 3R Rar siameif § 9
f '
LR ok o S & ur e R gRT §91¢ ¢
3T~ BRI ¥

.o, e gr1 fRad s @t et ga9d
s R arel gas of), 799 &1 S foram
TR AR FR @B

biography of Manish.
IV.Manish has never heard Rhea. V. 71 5 ﬁmﬁWEvﬁﬁﬁw!
51 | Kavyaisa | 51 | PTATUD
(A) Dancer (A) m
(B) Writer (B) SIRFaT
(C) Singer (€) TR
(D) painter o) R 3
52 | Rishi is a 52 | RN ga
(A) Dancer (A) TdD
(B) Writer (B) TP
(C) Singer (C) TR
(D) Painter o) 2 3

13




Directions for (Qs: 53-54)

94 : 53-54 % foTq Ao ' A

Six people were playing a game sitting in
a circle and everyone facing the center.
I. Vijay was to the left of Sudhir.

fl. Amar was between Rakesh. and
Saurav. '

lll. Neeru was second to the left of

B: it MerdR (RART § 93 §T @l <8 9 3R
TAD Afth. BT 3T sy B 3R 27| '

. faoTg GeR 31 9 &iR o)

9. 3R, 531 3R WK & i 21|

1. ¥, AR B IR SR A G W 0R o

Amar.
53 | Who is second to the right of Vijay? 53 | favTe &1 el 8iR A gaRT B 22
(A) Rakesh ' | (A) ITBST
(B) Saurav (B) Hq
(C) Neeru () 9% .
(D) None of these- (D) 3T < B T
54 | Who is/are between Amar and Vijay? 54 | 3R AR 5T & §19 BIF-BH 22
(A) Saurav and Sudhir (A) qﬁ?—cfaﬂvgeﬂ-\r
(B) Rakesh and Saurav (B) I 9T 3R WIRG
(C) Sucdhir and Rakesh (C)ﬁEﬁ?aﬁ?'ﬂ%ﬂT
(D) None of these s :
(D) 3TH A BIS Al
55 According to ' recent studies, people | 55 | BTl &I & ITIT b IR, 3T BN | YIS

" than

whose diet is unusually high in protein
are more likely to suffer from insomnia
people whose diet contains
moderate amounts of protein. It is
therefore likely that a diet high in
protein is a cause, though perhaps not
the only cause, of insomnia. Which of
the following, if true, casts the most
serious doubt on the conclusion drawn |
above?

(A) People whose diet is unusually high
in  protein  often  have  other
characteristics’ in common, some of
which are likely to cause insomnia.

{B) Diets that are high in protein are

“often low in foods that help keep the
immune system working effectively.

{C) Reducing the amount of protein in
one's diet can be harmful.
(D) People whose diets are unusually

low in protein often experience |

insomnia.

o1 3 /= o aret @ @ g F e
HBR H TR WY F 31feres 71 § NS oF
qrel |RT & STST & T B B U1 s
21 TEfy Wi Y 3t /=T arer :MER, arfeT
®1 TP FRV & Fhl & TAMY 2Ms T8} Thars)
BN E &) qhar | PrafiRad § 9 @
B, e F B, IR f3v 7U frepd o) e
HIAE TR AT UTh HReT 22

(A) B9 AFT H, e smer d 0idH @t A7
IR BT ¥ 31 Bl 2, Ur: oo W Fer
gid & F514H 9 T8 & R gt A v g9 @l
HHTE1 Bl Bl

(B) 31fered #=AT & WA aret SERT § W WeE
B AT HF Bl § R IR @Y IFT-aRRg s
YOTTell T &7 9 BT Bl 8l _

(c) fHdlt <fth & MR ¥ I M &) |43 § &)
AT BINPBRS B Fha 2l

(D) S @ &, FF ER § NS & 7
SRR 9} 64 BIelt &, WRT: AfsT & 7= &)
SIGE]
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é.56 A four-person crew from Classic Colours
is painting Mr. Khan's house. Michael is
" painting the front of the house. Rajesh is
in the alley behind the house painting
the back side. Rahul is painting the
window frames on the North side,

Aditya is on the South. If Michael

then switches places with Aditya, where
is Aditya?

(A) in the alley behind the house -

(B) on the North side of the house

(C) in front of the house

(D) on the South side of the house

switches places with Rahul, and Rahul |

56

& TR I TS -YATS BT BIH DY Y81 8 AIgH B
I 9T Rasfaat & BT IR F1-RAH- DR &
3| enfeey Sferr & @R ¥ Il AEed g &
eI IR 3 ST iR R X1g et anfied & W 1)
371 STTQ T enfae el &2

(A) TR & UTO el §

(8) TR 3 ST AT

(C) EIR % T aTel | A

D) TR & Syl wrr A
,(WW?#W%%W%@@
TS -YTs X V8 B

the
"number of legs are 14 more than twice

57 | In a group of cows and hens,
the number of heads. The number of
cows is '

(A) 5

(B)7

(C)10

(D) 12

57

TR SR ORI b AE A il B el R Bl
ﬂ@ﬂﬁmm‘cﬁ%lﬂm‘raﬁmﬁﬁaﬁﬁv

(A)5

(B) 7

(C) 10

(D) 12

58 | In a class, 3/5th of the students are girls
and rest are boys. If 2/9th of the girls
and 1/4 of the boys are absent, what
part of the total number of students is
present in class?

(A) 17/25

 (B) 18/49

(C) 23/30

(D) 23/36

58

wmmﬁm/msﬁﬁﬁa/smm
H1 ¥ 3R 9 a8 Ay il 7 W 2/0 AR
TSBT A W 1/4 v gl T A erEl/ ol
¥ pof frar SURRG 82

(A) 17/25

(B) 18/49

(C) 23/30

(D) 23/36

In a family, a couple has a son and a
daughter. The age of the father is three
| times that of his daughter and the age
of the son is half of that of his mother.
The wife is 9 years younger to her

59

>y

husband and the brother is seven years

59

T TRAR § SUT & U SdT 3R Ueb 8! &
firer ) oy SHS Sred) B Y A A T ¥
3R T P Y AT A T 3T W SR 1 A
aqﬁqﬁfﬂgaﬁaﬁ—é’r%sﬁ?mém:ﬁa%ﬁﬁw
Y g1 81 7Y @ 317y fperil 82

older than his sister. What is the age of (A) 407
the mother? (8) 45 T
(A) 40 years (C)50 a¥
(B) 45 years (D) 60 a9 |
(C) 50 years
(D) 60 years
15
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Read the information given below |

carefully and answer (Qs: 60 - 64) on its
basis.

A T SAEBR B eyds 98 i |-
FI TR IR U4 3. 60-64 & IX ST

Following is the criteria for selecting
team leader for the software company
XYZ. '

The candidate should

A. Have a work experience of at least

' four years as an Associate Engineer.

B. Be fluent in English.

C. Have scored at least 90% in the
selection interview.

D. Know either Telugu or Hindi.

E. Be at least 30 years and not more
_than 40 years as on 01-12-2013.

If the candidate satisfies all the above

criteria, the candidate may be selected.

If the candidate fulfils all the criteria

except, .

I. Criterion (A), but has a work
experience of at least five years as a
Testing Engineer, then he/she is
referred to  Senior
Engineer.

Il. Criterion (E), but has a work
experience of at least nine years as a
Software Engineer then he/she is
.referred to Manager.

In each question below given is the

details of one candidate. You have to

take one of the suggested courses of

Software

action based on the information
provided and the conditions and sub
_conditions given above and mark the
number of that course of action as your
answer. You are not to assume anything
other than the information provided in
each question. All these cases are given
to you as on 01-12-2013.

SR & T &g Frefafad wree &
et & ure ferferRae g anfee

&. WIRE SR & vy § &9 3§ 59
IR U T I H BT ¥

. ERIIATE 3ol aler # [ 2l

. w%gmwﬁw@zﬁq%%a‘cﬁ
EINGERE I

. I a1 fe=<t &1 9 g1 |

S 01/12/2013 BT =TT AR 30 a9 qoff
3BT AR BT 40 99 BT -

Al el SwRIH WY AEEl b IRy Fear
& 1 el BT g R o @t 21 ARy
X1 B B RATY F,

I AES(F) TR ST SR & o1 5
U1 BT BT B BT SFTHT T E A S
A Bl iR giredae sﬁﬁﬁm &
ferermref s Sa &) |

Il AFES (S.), I WIFERR FOfaR &
w9 B Y FH A 98] 9% B B P
ﬂ%@ﬁ%ﬁf%ﬂﬁﬁﬁﬁﬁﬁ?%
[EEINPETIRvIGIE

e &g 7T uRes w9 3 uep angeff o1 @Ry
f&am T 81 ey SR D TS e ik
Sfevifad wrdf o sy-wrel & amaR w
Gl 8 wrdarfal & e v @1 g
BT B AR AMYPBT I HTIATS) & =T Bl
301 IR & ®U ¥ RIfRd B &1 e
TP Uo7 & 718 STHeRY F FRiReD BIs
STTAN el ST 81 It A et ATy
01/12/2013 &1 fRIRT &F g fag 71y &)
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*0 Bheem has scored 92% in the selection | 60 qﬁ"qﬁﬂ'ﬂ?%@_ﬂmﬁm’{ﬁ%%%ﬁﬁﬁw
interview and he is fluent in English. He 3R I8 URTIATE IS IerdT 81 99 THifRue
has six years of work experience as an gOlifTR & w9 & 6 g8l g BRI BT Bl
Associate Engineer and knows Hindi. He v & qT 7 2= o7 979 v 2 W‘cﬁ
was born in ?Oth March 198.1. SR 30 7T 1081 1
(A) The canc#date is to be rejected. (A) T Y i
(B)The candidate may be selected. !
(C) The candidate is to be referred to (B) smr‘eﬁaﬁa?:rﬁamaﬁm
the.Manager. (C) 3reel} BT AR & IIRY AT BT
(D)The candidate is to be referred to the (D) =l B MR AFedAR iR &
Senior Software Engineer. ' IR WS BT
61 | Seema was born in 1979 and she knows | 61 | SITHT BT ST 1979 H §3T AT 3R T8 gy 3R
both Telugu and Hindi. She has three =1 SH1 &1 319 ot 21 S95 U THifdee
-years of work experience as an THFRR & §Y § &R $I9 &1 diF gy &l
Associate Engineer. She scored 90% in aij'iiq £ S FEITBR ¥ 90% 3P AR, fpT
the interview and speaks English a9z SR S ¥ SEs I
ﬂuentﬁiy. She also h::,\s six ylears of work Y= TN SR B YN W p———
experience as a Testing Engineer.
(A) The candidate is to be rejected. PISTIHA W
(B) The candidate may be selected. - (A) ST Bl WWW|
(C): Data is inadequate to take any (B) 31%gdT BT AT BRI SN
decision. ) (C) BTz ol o= & fory s1eT sryatw Bl
(D) The candidate is to be referred to (D) 1l B AR FiredR goifae &
the Senior Software Engineer. U ST 21T
62 | Charu scored 90% in the interview and is | 62 | AT - HIEHR H 90% 3 31T &Y 3R I8

fluent in English. She knows Telugu and

is 34 years old. She has ten years of
work experience as a Software Engineer
and has six years of work experience as
a Testing engineer.

(A) The candidate is to be rejected.

(B) The candidate may be selected.
(C). Data is inadequate to take any
decision. '
(D)The candidate is to be referred to the
Manager. '

YRTIATE SISl dlerd! 81 S dY &1 & &
3R TP Y 34 TY &1 I AFCAIR FONTIR
% WY H T qu] d6 qA7 SR FOlHaR &
U N ©: qu1 7% BRI BRA BT A 1

(A) 31RIT BT SRTH HAT BT

(8) arrelt Y =TSy et B

() BIS fAl o= % forg sTerT arraie 2

(D) 3efT BT AR & IIRY Ao=1T BT
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63 | Gourav was born on 10th September | 63 |7 IRd I ST 10 ra=R, 1985 BT am |
1985. He has six years of work | ' | o I THIRUe SR & WU #-
experience as an Associate Engineer, | e wT e g S % alR
and is fluent in English. He knows both .

YRIIATE TSl dlerdl ol 98 &=l
Hindi and English and scored 85% in the , . si#E ki
interview. He has nine years work SISl inlEﬁr ST T § aﬂ'\r.au l
experience as a Software Engineer. HIEThR 85% 3fh 3 5d fU 81 9d
(A) The candidate is to be rejected. ATFEdIR FONTIR & 0 | BT B
(B) The candidate may be selected. &1 1 991 BT 3 2
(C) Data is inadequate to take any A) amraﬁaﬁmzﬂﬁma’m
decision. « : 2 .
(D) The candidate is to be referred to () ot kil !
the Senior Software Engineer. © Elﬁ‘é frofa o & fery sTet a1y 1
2l | '
o) el @ AR diedIR
SONTIR & UTg W1 81T

64 | Prekshi has - nine vyears of work |64 efl Bl ATFCdIR SOl TR & ®wg H Al
experience as a Software Engineer and auf IF BT B T NG g g sy
knows Telugu. She is fluent in English m &1 o L 98 gRIYaE 3sh

~and has five year.s of work experience z'zs et & g w9 TfTTe ST
an Associate Engineer and scored 97% in & o R s |
the interview. Her age is 41 years. o l. E EETW 1 37FHd
(A) The candidate is to be rejected. TJAT I HEHR H 97 % SED SINK
. (B) The candidate may be selected. fpu 81 SHD 3y 41 a9 Bl
(C) Data is inadequate to take any | (A) ymgﬁzﬁgﬂzﬂqﬁmmi
?e)c,‘s‘:”' » o a (8) areit @Y =TI ST B
D) The candidate is to be referred to
. C oty o & fog Srer srmat
the Manager. ( )Hﬁ”ﬁ ﬁﬂf
2l
(D) 3r+eft BT HSR & UTH WSTT BT
65 | Consider the series: 22, 21, 23, 22, 24, | 65 | g 3{{hH U EEIE Eﬁll@lq

" 23,..What number should come next?

(A) 22
(B) 24
(C) 25
(D) 26

22,21,23,22,24,23-—-F0 3TeAl AT
I AT AT =8 g2 -
(A) 22 '

(B) 24

(C) 25

(D) 26
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| 66

Light bulbs that emit lower intensity-
light save energy by requiring less

electricity. Therefore, if home owners
use only low-intensity light bulbs, their
electric bill will decrease. Which of the
following, represents. a necessary
assumption for the above argument?

(A) The low-intensity light bulbs are as
effective in providing light as standard
light bulbs. L f

(B) Home owners are always concerned
with lowering their utility bills.

(C) Home owners can help decrease

pollution levels in their communities by

- lowering electricity consumption.

(D) Low-intensity light bulbs are less
expensive than standard light bulbs.

66

7 gl YehT9l a8} (=l dTel
dge dcdl B! HA A9l @l

Id B B A€, AlS JearH] bad
foret <fore arel @Tge Sl B TN A

amgEn fFr=faRaa § | S |1 A
JWRITh ddb & U MTeqd TR Bl
CRIIR

() For=t Sfigar arel diTse god e e
F A W S & gwrEl & R b
RISS dlsC ded| |

(B) TEETH 310 IUIIT AR
ferett ® @t e % forg fafera wea &1

STHR 79T TSR H Fgul & W |
HH T A 7SS PR Wb Bl

STSC Sod B AT H HF dHIFd dTel B

angeadal Bl & el 4 ol @ |

o < S Rt % R F @ |

(c) e fasTell @ wad H BHI

(D) e digar arel dge 9od Wrss

Directions for Qs:-67-68

TS : 67-68 & foT0 fAear:

In a certain number system, there are
only two notations to represent
numbers - '@’ and '&'. The digit ‘0" is

“represented by '@' and '1' by '&'. The

subsequent numbers are represented in
the following manner:

2 is represented as &@,

3 is represented as &&,

4 is represented as &@@;

5is represented as &@& and so on. |
Based on this coded language, answer
the following questions.

HIIUY A=A g # el &l TBR &
Tehaiehl 31T ‘@' TAT &' GIRT W3l

1’ % 3fp DI ‘@ ERT ST STl 2

TR W ST ST &

2 B &@ P WY H T AT 8

3 && P WU H SITAT STl &

4P @@ P BY F SITAT S &

5 Pl @& P WY H AT U AE A
B ST ST §

39 WIGad AT FT dg W b
R R FrEfaRad g F ST
EUSN

BT ST STA & 1'0° P 37 Bl@ AT
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67

Which number below is not odd? 67

?ﬂﬁaﬁﬂémaﬂﬁﬁaﬁqﬁmmﬂﬁl

 Rs.8730

(A) @&& &5
(B) &@& (A) @&&
(C) &&@ (B) &@&
(D) &&& (C) &&@
(D) &&&
%8 What is "&@&"% of "X@ED@" | e@s@@ B &@&" % o &2
(A) &@@ (A) &@@ |
(B) @&@ (B) @&@ |
(Crdia (C) &&@ |
(D) @&& (D) @&& )
69 | In a certain code ‘EASIER’ is written as | 69 | BT pedag AT 4 "EASIER" Y TGKUCG" &
TGKUCG. How is ‘CUTTER’ written in that wy # foray AT g 99 Fedg AT T
CoaaR "CUTTER" T o foTeaT STTaT 82
Ay TWVGE (A) TWVVGE
(B) TGWWVE (B) TGWWVE
(C) TGVVWE (C) TGVVWE
(D) TVGYWE (D) TVGVWE
70 | Choose the picture that would go in the empty box so that the two bottom pictures are related in the
same way as the top two are related.
w%ﬁﬁﬁwﬁ@ﬁwmﬁmﬁﬁ%%mﬁﬁﬁmmﬂw@
TR Bl o8 TER {5 SR arel <1 sy g €
1 %@) "
O g0
0 e Y- N
. (A) (B) (Q) (D)
71 | Roshan invested some amount at the rate of | 71 | Y191 = 6 TfIord @) 91 s TN PO BB

6% pa and at the end of 3 years he got
simple
compound interest he will get' on same
amount at same rate of interest after 2
years?

(A) Rs.5820

(B) Rs.5949.60

{C) Rs.5900

(D) Rs.5994.60

interest. How much

&1 faer foan iR 3 a9t & gwarg S 8730
®YY BT AR =TS IS FAT| T GFRTIT
TR S &) <1 Y &X 7R 2 991 ¥ ugE 99
TIhglg TS & w9 H fha=T w3y e
(A) 5820 HIY '

(B) 5949.60 WYY

(C) 5900 ®™UT

(D) 5994.60 YUY
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%72 According to the Table A below, the number | 72 | H19 €1 718 dIfotdr '&' & TER TS

of Fellows is approximately what per cent of TR ¥ aredarel Y e S e @ T
the total membership of Organization X? :
. T ] o7 fopd= wiaerd &2
(A)12%
(B) 18% : (A) 12 %
(C) 25% (B) 18 %
(D) 35% (C) 25 %
' (D) 35 %
Table A: Membership of Organisation X, —
- P 8 ATfeTehT & 1988 H IS Ua & Hawddl
Honorary Members 78 ' _ CERIEED SERS 78
| Fellows 9,209 AT (W) 9,209
T Members 35,509 T 35 509
Associate Members 27,909
‘ : HEATT A 27,909
4 Affiliate Members 2,372
dedg o 2,372

Directions for (Qs: 73-77): Study the following line graph and answer Qs:73-77.

9 73-77 % 10 o er: fF=ferfRad i um &1 31eaae Bd U9 73-77 6 SN ST

;.
EXPORTS FROM THREE COMPANIES OVER THE YEARS (IN EUROS)
gyl & e diw wefaa & Fda (ga o)
seieee COMIPANY X ) Company 2 ot Company Y
160
) 140 ' 140 4
g
P
120 120 : ﬁvw*”1zo
. o
+ | 100 _ 100 100" g =
.= 90 . N -
80 ; 804 80
3 : : 60 ’*,..V‘.( ; S— ﬂm%w” 60 €
' P 50
40
20
0 ;
. 1993 1994 1995 1996 1997 1998 1999

2,




frrerferRad T aut Y Sl & SRM

73 | For which of the following pairs of years | 73
the total exports from the three T O 2 gt WW ’
Companies together are equal? 3 |
| HH99 87
(A) 1995 and 1998 _ '
(B) 1996 and 1998 {A) 1995 3iI¥ 1998
(C) 1997 and 1998 (B) 1996 311X 1998
(D) 1995 and 1996 (C) 1997 3R 1998
(D)'1995 37X 1996
74 'Average annual exports during the given | 74 HH] "cﬂ'é' %ﬁ f%r({é}r :ng arafer iﬁ E‘T?H
. period for Company Y is approximately a9 gt HOE] OIS P g
what percent of the average annual g '
Iy Frafd &1 o fohamr nfer &2

exports for Company Z?
(A) 93.33% '

(B) 87.12%

(C) 89.64%

(D) 91.21%

(A)93.33 %
(B) 87.12 %
(C) 89.64 %

(D)91.21% -

75

In which year was the difference between

75

BT TR AR Gy gRT By U

the exports from Companies X and Y the ﬁaﬁamwﬁma&ﬁww?
minimum? ) Ta5
(A) 1994 :83‘1995
(8] 1935 (C) 1996
e | (0) 1997
'(D) 1997
76 | What was the difference between the | 76 Eﬂﬂﬁmﬁﬁﬁm 1993ﬁﬁ3‘§7[§f3ﬁw 1
averagedex:])orts of Fhe three Compani?es in frafa aiw 1998 & ﬁ'ﬁ({ iy g fel'qfﬁ
1993 and the average exports in 1998 .
geew P d19 =R foha=r ame
(A) 15.33
(B) 18.67 (A) 15.33
(C) 20 (B) 18..67
(D) 22.17 (€)20
(D) 22.17
77 | In how many of the given years, were the | 77 | {0 770 99l ¥ 9§ fhd= 9yl § &1 9IS
exports from Clompany Z more rt]han the &7 e ﬁ'{’ T s} % airga arffs
avérage annual exports over the given 2 i ﬁ
years? ' : Al ] Ar
“(A)3 (A)3
(B)4 (B) &
(C) 5 (C)5
(D)1 (D)1
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78

(A) (B) © (D)

Which cube cannot be made based on the unfolded cube given below?

I Ty X Y AT (RIF) B IR TR 5 6 B TR 78] S el B2

79

Which of the shapes given below will complete this sequence?

fr=iferRae 3 @i <f el § T argEHE RIBNT 2

(&

()

(A) (B) (C)

(D)

80

According to one psychological theory, in order
"to be happy, one must have an intimate
‘relationship with Yet the
world’s greatest composers spent their time in
solitude and had no intimate relationships. So

another person.

my conclusion is that the psychological theory
must be wrong.

The conclusion above assumes that, according to
me: i

(A) The world’'s greatest composers chose to
avoid intimate relationships.

(B) The world’s greatest composers were happy.

(C) Solitude is necessary for the composition of
great music. '

(D) People who have intimate relationships

spend less time in solitude.

80

T FATISIITIh NGl % RN [l @l 31 Gel e
& fore foneft o afts & Wi g WY sraw TE|
g R ft Rivg & Jemew SifiaeR] 3 A9 99
T § e fra sl I et ¥ ufve W TE
2| ara: %7 Frspd gw ® 6 waeie RiET= sraw €
Tord BFT @187l AR IUR YWRIT [T I8
Wfawg $ mEETT Wider! 7 afrs ddd | g97 3
A

(B) freg & HETTTH WHTHR G Al

() HETH e B a1 F {0 T Iv Sae® &

(D) TS SidY YT AT @R UHld H HH G99 @i

FR Bl
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Part-H1/HTT-1I

(English Language/ 33Tt HTHT) ' C

81 | Fill in the blank using the most| 85 | Which of the following words is nearest in
appropriate word: ' : meaning to the underlined one in the
The inaugural ceremony was a sentence?
grand ; ' Due to the impending cyclone people from
(A) Speculum the coast were evacuated.
(B) Spectacle (A) Financed
(C) Speculation (B) Deceived
(D) Sphincter (C) Destroyed
(D) Transferred
82 | Fill in the blank using the most| 84 | Which of the following words is nearest in
appropriate word: | meaning to the underlined one in the
For having spent so many years in prison, sentence?
his sentence was The director called for optimal utilization of
(A) Commuted manpower. i
(B) Corroborated (A) Minimal
(C) Codified (B) Maximum
(D) Counted (C) Indifferent
. (D) Expensive
83 | What would be the best way of| 87 | Which of the following words is nearest in
combining these two sentences? meaning to the underlined one in the
He was really unhappy in his job and in sentence? .
the city. When asked a question, please do not
He quit and went away from the city. prevaricate.
(A) He was really unhappy in his job and (A) Assert
city because he quit and went away. (B} Fabricate
(B) Since he was really unhappy in his (C) Testify -
job and city, he quit and went away. (D) Argue
(C) Though really unhappy in his job and
city, he quit and went away.
(D) Being really unhappy in his job and
.city, therefore he quit and went
_ away. _
84 | Which of the following words is nearest | 88 | Which of the following words is opposite in |

in_meaning to the underlined one in the
sentence?

Ever the optimist man, he was confident
he would win.

{A) Desperate
(B) Sad

(C) Hopeful
(D) Competent

meaning to the underlined one in the
sentence?

Newspaper reports ought te be clear in their
analysis for the readers to understand.

(A) Argumentative

(B) Puzzled

(C) Obfuscatory

(D) Extended

24
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Which of the following words is opposite
in_ meaning to the underlined one in the
sentence?

Today’s generation may find the songs

‘from the earlier era too melancholic.

(A) Cheerful
(B) Unhappy
(C) Irritating
(D) Uninteresting

94

What is the closest interpretation of the
idiomatic__expression underlined in the
following sentence?

As we raced to finish the project despite so
many obstacles, the failure of electricity came

| as the last straw.

(A) A final unbearable situation.

(B) An early unbearable solution.

(C) A confusing situation.

(D) A shift in thinking about the solution.

(C) Wearing a good hat.
(D) Without a hat.

90 | Which of the following words is oppacsite | 95 | Fill in the blank using the most appropriate
in_meaning to the underlined one in the Conditional word/phrase:
sentence? o He settled in, he had always lived
The test of character is how the person there.
reacts to adverse circumstances. (A) Even if
(A) Warm (B) As if
(B) Cold (C) As far as
(C) Supportive (D) As soon as
(D) Negative
91 | Which of the following words is opposite | 94 | Fill in the blank using the most appropriate
in meaning to the underlined one in the word/phrase:
sentence? you promise, you should-keep the
The disaster was averted, and so promise.
everybody was elated. (A) Whether
(A) Downcast (B) As if
(B) Upbeat (C) As far as
(C) Cheery (D) Whenever
(D) Thrilled
02 | Fill in the blank with the appropriate | 97 | Fill in the blank using the most appropriate
word. ' word/phrase: -
Where have you been morning? in his place, | would not have done
(A) For that.
{B) Since (A) Whenever
(C) Toward (B)-If | were
(D) Besides 1(C) flam
: (D) Whether
Q3 | What is the closest interpretation of the | 98 | Fill in the blank using the most appropriate
idiomatic_expression underlined in the word/phrase:
following sentence? The house burnt down in the fire
He is ready to go for any recreational belonged to my friend.
activity at the drop of a hat. (A) That was
(A) With prior notice. (B) Thus was
(B) At very short notice. (C) This was

(D) Therefore

" 25




105

99 | Fill in the blank using the most appropriate The given sentence has to be rewritten in reperted
word/phrase: | speech. Which of the options is the best form or the
His role in the play, , lasted only three rewritten sentence?
minutes "The guest came last Sunday," she told me.
(A) Which consisted of a small part (A) She told me that the guest had come last Sunday.
(B) Which consisting of a small part {B) The guest may come last Sunday, she said.
(C) That consisting of a small part (C) She tells me the guest will come last Sunday.
(D) Which had a small part (D) | was told by the guest she came last Sunday.
100 | Fill in the blank using the most appropriate | 106 | The given sentence has to be rewritten in reported
word/phrase: ) speech. Which of the options is the best form of the
I met him when | was walking the rewritten sentence?
grounds. He said to me, 'l prefer fiction to poetry".
(A) Away (A) He said to me he prefer fiction to poetry.
(B) Across (B) He told to me he prefers fiction to poetry.
(C) Beyond (C) He said to me that he preferred fiction to poetry.
(D) During (D) He said he prefers fiction to me.
101 | Fill in the blank using the most appropriate | 107 | The following sentence is to be rewritten in direct
word/phrase speech.Which of the o'ptions is the best form of the
It is easier if you take a cab the station, rewritten sentence?
(A) Beyond He informed me that the work was completed last | 3
(B) From week before | came.
(C) Across (A) "The work was completed last week before you
(D) Between came," he informed me.
(B) "Last week you came and the work was
completed,” he informed me.
(C) "The week you came last the work was
completed,” he informed me.
(D) "The week work was completed you came," he
~ informed me.
102 | Fill in the blank using the most appropriate | 108 | The following sentence is to be rewritten in dlrect
word/phrase: - | speech.Which of the options is the best form of the
It would be unsafe to lean the glass the rewritten sentence?
wall. | He'advised me that | ought to consult a doctor.
(A) Between (A) "l ought to consult a doctor," he advised me.
{B) Across (B) "I may consult a doctor," he advised me.
(C) Within (C) "You ought to consult a doctor," he advised me.
(D) Against (D) "You must consult some doctor," he advised me.
103 | Fill in the blank using the most appropnate 109 | Fili in the blank with the appropriate tense of the
word/phrase: verb given in the bracket.
He is tall; his brother is not. The post is delayed but is likely (come) soon.
(A) Therefore (A) Came :
(B) Because (B) To come
(C) However (C) Coming
(D) Hence (D) Will come
104 | Fill in the blank using the most appropriate | 110 | Fill in the blank with the appropriate tense of the
word/phrase: verb given in the bracket.
he or | will have to finish the ;ob I grew tired of (carry) the bag all the way.
(A) Neither (A) Carries
(B) Because '(B) Carried
(C) Whether (C) Tocarry -
(D) Either (D) Carrying
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Read the passage given below and answer the questions Nos.111-120, basing your answers‘strictly on
theffassage itself. ;

If there is a country in the world where concord, according to common calculation, would be least
expected, it is America. Made up as it is of people from different nations, accustomed to different forms
and habits of government, speaking different languages, and more different in their modes of worship,
it would appear that the union of such a people was impracticable; but by the simple operation of
constructing government on the principles of society and the rights of man, every difficulty retires, and
all the parts are brought into cordial unison. There the poor are not oppressed, the rich are not
privileged. Industry is not mortified by the splendid extravagance of a court rioting at its expense. Their
taxes are few, because their government is just; and as there is nothing to render them wretched, there
is nothing to engender riots and tumults. ‘ '

Whatever is the cause of taxes to a Nation, becomes also the means of revenue to Government.
Every war terminates with an addition of taxes, and consequently with an addition of revenue, and in
any event of war, in the manner they are now commenced and concluded, the power and interest of
Governments are increased. War, therefore, from its productiveness, as it easily furnishes the pretence
of necessity for taxes and appointments to places and offices, becomes a principal part of the system of
old governments; and to establish any mode to abolish war, however advantageous it might be to
Nations, would be to take from such Government the most lucrative of its branches. The frivolous
matters upon which war is made, show the disposition and avidity of Governments to uphold the
system of war, and betray the motives upon which they act.

111 Why, accordirig to the author, was concord [116What are conditions of the poor and the rich in

unexpected in America? America?
(A) Due to too many differences. ' (A)The poor pay high taxes, the rich pay low taxes.
(B) Due to its geography. . (B) The poor are given jobs by the rich.
(C) Due to its high taxes. (C) The poor are oppressed, just like the rich.
(D) Due to its monarchy. (D) The poor are not oppressed, the rich are not
: privileged.
112 |America achieved concord by following. 117 Why are there no riots in America?

(A) The principles of society and the rights of (A) Because the poor are very quiet.

man. ‘ (B) Because their laws are very tough. -
(B) Their monarchs loyally. : (C) Because their government is just.
(C) A low-tax system. (D)Because their government imposes high taxes.

(D) The rights of man.

113 Why does America have low taxes? 118 What is the old governments’ attitude towards

(A) Because the people refuse to pay more. wars?

(B) Because the people have no money. (A) That wars kill too many people.
(C) Because the government pays the taxes. (B) That wars are lucrative.

(D) Because their government is just. ' (C) That'wars are a waste of time.

(D) That wars finish off governments.

114 What role do taxes play in the government?  [119 What kind of reasons do governments offer to

(A) They are a source of judicial inquiries. justify war?
(B) They are a means of revenue. (A) Logical reasons.
(C) They are the means of social justice. (B) Emotional reasons.
(D) They pay salaries in the government. (C) Economic reasons.
, (D) Frivolous reasons.
115 What happens to taxes when a war ends? "[120What is the author’s view regarding the
(A) Taxes are reduced. . government’s tendency to wage war?
(B) Taxes are paid in instalments. - (A} Supports it.
(C) Taxes are added. (B) Is neutral about it.
(D) Taxes remain unpaid. C) Is critical of it.

(D) Is ignorant of it.
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Part-IV/#RT-IV (Hindi Language/fé=ar &TsT)

e 39 YFT BT IR % G HaReR ([R/fR=) 98 & srdgdi Bl 81 <1 3

Note_é: This part is to be answered only by the candidates for the Post of Parliamentary Interpreter (English/Hindi)

ST s e o S Tm

121 | f8<Y &1 ygell HER 9 BE AT 87 | 127
(A)  FHTER geTayor (A)  3rgAfd
(B)  wwi fEad | B) wwfa
(C)  T&d KIS (© gl
(D) &Redw Aol (D) gl
122 | Fr=foRea & & fhg ®fa F om@elt | 128 | Aifer o1 f24) ufderes &—
qreT H B AT D 87
(A)  3rmerEd
(A) Y (B)  WTwYUY
(B) ¥EEM (C)  femo
(€ ¥HREE (D) ufaeT .
| D) ST
123.ﬁ%ﬁaﬁqﬁﬁﬂlcﬂﬁé— 129 | @1% BT GeTR BT AET 31 o
(A) 3R (A)  9eHl | |
(B) T (B) @ ¥ §B o
(C) el ©) e @) A B
(D)  BRETE (D) faemd &
124 | T8 i @ Tt o @y ae— | 130  Fefaiad § W gE g gig-
(A) U (A)  SUdT o wEETE T |
(B) A (B)  SUB UF gwgare wfed e
(€ T (C)  Mu®T 9x fier | g=m@rg | )
(D) T (D)  o=gdIg wfed amydr 77 |
125 | €190 31 e U qaei— 131 | Sfea v oA @1 gfe W WAl g ared
3 .
(A)  BRaE : :
(B) 3@ (A) @@ gHE U SR AP} ATl g3l
() @i TN AT |
(D) We® | (B)  TE g A HOE WeR Slsdl gl
récipl , '
(C) goM W Ao ard® e ANTal gl
R 3T |
- (D)  dTcTd ATl 83T fHeTE ol =R ugan|
126 | QTR W UES PT A G el Wl | 132 | ‘Hpe fHw wag g -
|82 )
. R (A)  fawg
B) e (B) R
| @©)  meEa © @
1) (D) .FHHCd
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133 | ‘Tr=pue’ wew o1 Afu—fdweg &— 139 | A 9 S=iaTe # Ul Pl ST |
(A) Froroue (A) g
(B) frt+wue (B) =
(C) ft@ue (C) wr=d
(D) e+ @ue (D) B
134 | o weal # @ act arenm wee | 140 | Fr=fofaa & @ ge arer ghg-
e . |
' (A)  #7 3fR anum OR AR ¥ |
1(A)  srguEr (B) A 310 =T BT WD B |
(B)  orgTEm (C) A arca & grax o |
(C) eFwEm - (D) ¥R 3R U i s T R |
(D)  ergufes
135 | {5 a9 § QST ¥ea @I VAN | 141 | @RI WA BT IaIexvl &—
faemyor & W # ger 27 ' . '
' (A) o
(A) g sr=e far St & U (B)  <morgH
(B) I8 w9 9gd of=8T g | (C) IR
(C)  arel, gd =R SR (D) @rmEr
(D) o1 ® 98 ol o oy |
136 | HwTE’ A B A ST B 142 | ‘sraree’ @1 aftr s 8-
1) W (A) S+
(B) =H (B) e+ o
(C) ¥ (C) 3t gEd
(D) @ (D) e+ 3rEw
137 | ‘3T vz @1 Sfud faemor 2— 1143 gﬁmwﬁﬂﬁﬂw@w’ﬁﬁ?wm?'
(A)  ife
(B) s (4) W
(C) & (B) uww
(D)  sifie (C) e
(DY  SuAr
138 | FaRE F BN AT AN o 144 | Fifefrpy & e a8 B g 8-
(A) &= ) (A) Tasita
(B) wHERY (B)  fagmm
(C) wgay (€) SR
(D) (D) e
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145

TosT BT feal OhRE 8- 151 | Sce i avall BT @1 a3 o
(A) PRI (A) 9 BT Feel BT
(B) wwi-gd (B) . HEaEel TR HR
(C) @imH | © fouda wrd
(D) PR (D)  URIE® Fed
146 | TG F BT G AT 3 152 | ‘e 213 T FAFTT T8 B
(A) T@
(B) A
(C) ==& (B) wd
(D) fawrt (C) o
(D) u g _
147 | @R o1 Aede ® @9 @1 f{wwer | 153 AT T @ 978 o s &
|2 A1 GAferT HIfoTg—
(A)  wEETas (% W= 1. fawrg
(B)  urara® (=) 3‘1"_3313 2. ARRD
(C)  uRnrTaTa®: | ia 3. 97
(D) wrdfie (@)  S9 4. rgq
(A) F—1, G —2, T-4, T3
(B) @—4, @ —3, -2, °G—1
(C) &3, @ —1, T4, 92
(D) B3, @ —4, T3, T2
148 | “HUC ®1dgd WU &— 154 | AT DI STBI—
(A) T N
© 0 o
(D) Ut (D)  foaro
149 | TET W B3 155 | ST H $IF A1 Ued o
(A) T (A geT
(B) (B) gan
(C) < (C) e
(D) omd (D)  ¥ftem
150 Wﬁﬁﬁﬂ@ﬁﬁwm 156 | ‘OTEAT @1 oA Y B
(A) SRR (A) ol
| (B) eraRiE B) ol
1(©€)  owRda (C) HIgy
(D) SR (D) Tl
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157 | ‘R wrer &7 @ A 57 159
. .
(A) e i '
(B) foclss aafd (A)  fEiRel
(C) o =fdd (B) 7O
(D)  gfed= i | (© T
(D) FRHTE?!T_
158 | ‘doiT ® WY o 160 | AT SATRON T Y <eIOT 8o
(A) 8 (A) 1888 %
By a1 | (B) 1887 §.
© = (C) 1891 8.
D) FHA B3 TEI (D) 1893 &,
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Answer Key of Written Test (Paper | - Objective Type) for the post of Parliamentary

Interpreter (English/Hindi)-Advt. No. 1/2017 held on 09.02.2019

General General General Hindi
SI. No. SI. No. ) Sl. No. ) Sl. No.
Awareness Intelligence English Language
1 C 41 C 81 B 121 C
2 B 42 D 82 A 122 D
3 D 43 C 83 B 123 B
4 & 44 A 84 C 124 D
5 B 45 A 85 D 125 A
6 C 46 B 86 B 126 B
7 B 47 A 87 B 127 B
8 B 48 D 88 C 128 &
9 A 49 & 89 A 129 A
10 D 50 A 90 C 130 C
11 C 51 B 91 A 131 B
12 A 52 C 92 B 132 A
13 D 53 C 93 B 133 B
14 B 54 D 94 A 134 B
15 C 55 A 95 B 135 B
16 A 56 C 96 D 136 C
17 @ 57 B 97 B 137 A
18 B 58 G 98 A 138 D
15 B 59 D 99 A 139 G
20 D 60 B 100 B 140 D
21 A 61 D 101 B 141 A
22 C 62 G 102 D 142 C
23 B 63 A 103 C 143 D
24 B 64 D 104 D 144 (@
25 G 65 C 105 A 145 A
26 A 66 A 106 G 146 B
27 C 67 C 107 A 147 C
28 B 68 A 108 C 148 C
29 D 69 G 109 B 149 D
30 B 70 D 110 D 150 A
31 A 71 D 111 A 151 C
32 C 72 A 112 A 152 D
23 A 73 D 113 D 153 C
34 C 74 A 114 B 154 B
35 A 75 C 115 C 155 B
36 C 76 C 116 D 156 A
37 C 77 B 117 C 157 B
38 B 78 D 118 B 158 C
39 D 79 A 119 D 159 C
40 C 80 B 120 C 160 D




weeT 9 Il/Paper 11
' HeTaTe

TRANSLATION
gHIEf: 2 9¢ qufie-100
Time: 2 Hours ’ Full Marks: 100
Tt weaAT & IeaT &
ANSWER ALL QUESTIONS-
|, PR daeReT & R F e Afvwl (Marks: 25)

Translate the following passage into Hindi.

Language is merely a means of expression of ideas, satisfaction of wants and exchange of views.
Different groups of men speak different language because all the language of the world did not come
into existence at the same time. Just as different nations are born, develop, grow old and die, similar is
the case with languages. That man is really alive who grows and makes progress because change is the
law of life. '

If fairy tales and legends, in wonderful ballads and poems the tale is often told of happy kings and

queens to whom God sent an only son or an only daughter. These princes and princesses always bring

with them enhancing beauty and happiness. In these stories even the most hazardous adventures,

involving the intervention of evil spirits fore told by some wicked fan, only take place in order to
- emphasize the success of the hero. '

Poetry is the health and final spirit of all knowledge. Emphatically may it be said of the poet, as
Shakespeare hath said of man, “he looks before and after” he is the rock of defenses for human nature:
as upholder and presérver, carrying everywhere with him relationship and love. The poet binds together
by passion and knowledge the vast empire of human society; it is immortal as heart of man.

" In the study of poetry, therefore, as in the study of all other kinds of literature, our attention must first be
directed to the poet himself, to his personality and outlook upon the world, to the interpretation of life
expressly given by or held in solution in his work, to the individual note in it. However, deeply we may
presently become interested in questions of art and form, origins and historical importance, these
primary aspects of poetry must never be permitted to slip out of our sight...

2. PRIl 3aeRoT &1 3N F e B (Marks: 25)

Translate the following passage into English.

TS T 372 Pl T6T ST Pl Hﬁsﬁmlwmwmm%ﬁmwﬁﬁw
T ST 3 3T TES B IR AR ST o7 F[Y Ee] Ao 1 eyt #7 A 312 &1 gt
ST T T IT [ FH TSI & Hlieel 78T &1 Ueh aTedy & eadid gl i %aﬁéﬂvmgfﬂﬁ
& QI T TS & AL G AT 3 §A oleT Ge &l A9 elled & ford G & 92 hda
- YIRS TSTaTa & gHAR LA Hl 3Tl Wmmﬁ?m@@wmm@aﬁ%l
AR JTRIer et Y fAReRar 3o 3mafeaal 7 & Ue ¥l TReg X FAaRITaN 38 319+ A7 7 arar
& di¥ W 8T 3T &A1 TTRTl g S9N & fod T8 g gITed gen foh §AR &2 & AN |l &

OTF ATT T ST TIS AIRYRT §, 38 g & S 5281 & a1 H 3eTehl 39 YR & (
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3. B S APcaRT @ RE F e Hfvw]

Translate the following parliamentary expressions and terms into Hindi.

i) Adjournment of the sitting of house.
ii) Calendar of sittings.
iii) Half-an- Hour Discussion.
iv) Maiden speech.
v) Matters raised with permission.
vi) Short notice question.
vii) Table of the house.
viii) Financial Business.
“ix) Expunction.
x) Crossing the floor.

4. TR GEd HEcafFd # 3Rl 7 de STl
Translate the following parliamentary expressions and terms into English:
a) gRa @

b) wfafaed faurs
c) YcIddcled

d) Haeq

e) Tgldeh U&dld
f) HARIThd 9ReT
g) fawes

h) TGt H IO
1) HAddled
DEEGAUIEESIC]

5. Prwatae aErat @ R # R

Write the Hindi equivalence of the following idioms: |

a) Actions speak louder than words.
b) A journey of a thousand miles begins with a single stcp.
¢) Anidle brain is the devil’s workshop.
~d) A stitch in time saves nine.
e) As you sow, so you shall reap.

6. FeTafla Hqera’l @ 3ol #F AT
- Write the English equivalence of the following idioms:
a) H FAR HY, Teh BN T
b) ST & AT TEA ¢
¢) 3T I Selshd ST
d) 3 &l dl | &7eT
o) WMIATHA AR

(Marks: 10x1= 10}

(Marks:10x1=10)

(Marks: 1x5 =15)

(Marks: 1x5=15)




7. TAfaf@a ercerael &1 FUER 3EST ar {Er & g FfATl (Marks: 10x1=10)

Translate the following terms in English or Hindi as the case may be:

) WAL, Ferar, giauror, grideor, sifdeard

i) Nlillify, Note of dissent, Allocation, Ratification, Segregate

8. fFafaf@a &1 Redr & gagarh sasu] (Marks: 1x5=15)
Give the synonyms of the following in Hindi:

a) <dr

b) A

c) darfesr
d) 3RTT
e) €as

9. ﬁmﬁ@aaﬁaﬁsﬁ%wamﬁmﬁl - | (Marks;1x5=5)

Write one word expressions in English for the following:

a) A government’s planned or expected financial position for a specified period of time.

b) A governmental oroamzatlon composed of non-elected, highly trained people to perform
administrative duties.

¢) The existing stock of goods which are to be used in the production of other goods or service

d) The amount by which total government spendmg is more than government income during a

. specified period.

e) A legally binding agreement between two or more competent parties fixing the prec1se terms and
details.









